
SAP ABAP table CRMC_ISX_PRP_SCH {Prepaid Schema}

CRMC_ISX_PRP_SCH

CLIENT [CLNT (3)]

SCHEMA_ID [CHAR (4)]

CURRENCY [CUKY (5)]

MIN_BALANCE [CHAR (10)]

NOTIF_LIMIT1 [CHAR (10)]

NOTIF_LIMIT2 [CHAR (10)]

NOTIF_LIMIT3 [CHAR (10)]

CRMC_ISX_PP_VTA

CLIENT [CLNT (3)]

VT_ID_AMOUNT [CHAR (10)]

 CRMC_ISX_PRP_SCH-MIN_BALANCE = CRMC_ISX_PP_VTA-VT_ID_AMOUNT 

0..N{0,1}
 CRMC_ISX_PRP_SCH-NOTIF_LIMIT1 = CRMC_ISX_PP_VTA-VT_ID_AMOUNT 

0..N{0,1}
 CRMC_ISX_PRP_SCH-NOTIF_LIMIT2 = CRMC_ISX_PP_VTA-VT_ID_AMOUNT 

0..N{0,1}
 CRMC_ISX_PRP_SCH-NOTIF_LIMIT3 = CRMC_ISX_PP_VTA-VT_ID_AMOUNT 0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CRMC_ISX_PRP_SCH-CURRENCY = TCURC-WAERS 

0..N

0..N


